
Ks cut criteria
 Track selection

 |Vr|< 10cm, |Vz|<30cm

 PID: Prob π > Prob K and Prob π > Prob P 

Np+ >=1 and Np- >=1 

 Second vertex fitting: L/sL > 2.0

 Remove the cosmic rays: |T(π+) – T(π-)| < 5

 Remove the beam-associated backgrounds: 2(second vertex fit ) < 120

ConExc
ConExc



1, Ks efficiency differences 
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Here, MSTJ(21) = 0 
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Ks truth events using different 
MSTJ(21) parameters 

(1M MC)
MSTJ(21) = 0 MSTJ(21) = 2 
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Ks mass distribution with 
MSTJ(21) = 0
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Ks mass distribution with 
MSTJ(21) = 2
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Ks momentum in truth level and 
detect level 

MSTJ(21) = 0 
MSTJ(21) = 2 

MSTJ(21) = 0 MSTJ(21) = 2 

Ks momentum 

in truth level:

Ks momentum 

in detect level:
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Ks mass in detect level 

MSTJ(21) = 0 MSTJ(21) = 2 

Ks mass in detect level:



2, Hadron efficiency differences 
• Hadronic event selection efficiency: 

74.3%  (Here, the generator is Lundalw, and MSTJ(21) = 2, Gao zhen’s efficiency is 72.7%)

82.9% (Here, the generator is Lundalw, and MSTJ(21) = 0, Gao zhen’s efficiency is 72.7%)

72.8% (Here, the generator is ConExc, and Gao Zhen’s efficiency is 72.7%)
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Cut flow for hadronic 

event selection:

MSTJ(21) = 0 MSTJ(21) = 2



Ks mass distribution
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Without second vertex fit

With second vertex fit

For the invariant mass distribution of Ks, the left plot show the result without 

second vertex fit and the right one using the second vertex fit.

Lundalw0 means lundalw generator with MSTJ(21) = 0 

and Lundalw2 means lundalw generator with MSTJ(21) = 2 


